
pT ( GeV/c ) 2.0 < y < 2.5 2.5 < y < 3.0 3.0 < y < 3.5 3.5 < y < 4.0 4.0 < y < 4.5
2–3 1.084 1.081 0.997 0.984 0.993
3–4 1.202 1.047 0.964 0.950 0.948
4–5 1.164 1.034 0.961 0.937 0.921
5–6 1.138 1.016 0.959 0.940 0.922
6–7 1.100 1.012 0.970 0.939 0.923
7–8 1.110 0.996 0.965 0.937 0.915
8–9 1.120 0.993 0.962 0.943 0.937
9–10 1.037 0.985 0.962 0.940 0.941
10–11 1.070 0.941 0.941 0.960 0.910
11–12 1.022 0.952 0.958 0.926 0.925
12–13 1.096 0.940 0.932 0.944 0.897
13–14 1.007 0.964 0.949 0.932 0.924
14–15 1.060 0.944 0.939 0.924

0.909
15–16 0.932 0.940 0.910

0.931
16–17 1.051 0.932 0.930

0.850
17–18 1.080 0.946

0.924 0.91118–19
0.969 0.934

19–20


